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S]EPY 6,573,032 21,209,447 £4,636,415
= 95,000 90,000 5,000
Al 6,478,032 21,119,447 £4,641,415
NEETE-SIERE - 840,964 915,964 A75,000
= 5,000 0 5,000
Al 835,964 915,964 280,000
NE-E-BIEESE-BL 390, 160 445,810 55,650
NBLRHE o oA 388,360 434,710 46,350
201 Yer2 2| 162,810 72,810 210,000
01 AR 22l 145,810 158,810 213,000
ONE B8l 2er+gH 35,000 38,000 3,000
OFHT2ARE &oI9IBE HA+T 0 6,000 6,000
OLRA 2CIRLIE 2 0 4,000 £4,000
02 32 7,000 14,000 3,000
OJEAS NBFLHAL 29 3,000 0 3,000
202 01t 7,000 10,000 3,000
NETEE 7,000 10,000 23,000
ONZYREZ L 8 X 0} 4,500 6,500 A2,000
O=Jtola & U AL £ 2,500 3,500 A1,000
207 & o) bl 193,650 230,000 236,350
NEEEETT 163,650 200,000 36,350
ORI M2 L B2ALY S 163,650 200,000 £.36,350
301 LB E 5,900 4,400 1,500
2R a3 5,900 4,400 1,500
OBl 22T ZY3 5,900 4,400 1,500
303 L& 3 7.500 6,000 1,500
01 Z&3 7.500 6,000 1,500
OZ2R L4H a3 7,500 6,000 1,500
SAYY sEsol2l 2Y 1,800 1,100 9,300
201 L2 bl 1,800 8,800 A7.,000
01 AR 22l 1,800 8,800 AT7.,000
Osotal 2| 600, 0002 *37H & 1,800 4,200 A2,400
of3s 0 2,500 2,500
O Al X2 0 2,100 £2,100
303 L4 3 0 2,300 £2,300
01 Z&3 0 2,300 £2,300
OZ4Z(saBYSOI2) 0 2,300 £2,300
24 0 1,000 A1,000
= 0 800 800
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OMEZY 2UE BSAR 2ASH 500 4,000 A 3,500
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ZE AL 88,000 91,000 A3,000
202 04| 2,000 5,000 A3,000
01 2ol 2,000 5,000 A3,000
O2sYRF 2,000 5,000 23,000
FOIENM MM 29 31,430 37,430 26,000
201 LBt 31,430 37,430 26,000
01 At 22l H 31,430 37,430 26,000
O2US2A3 XA &AM ¢ 11,000 15,000 A4,000
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20,0002 *150% *23 6,000 8,000 A2,000
PRI 109, 100 104, 100 5,000
[=4 5,000 0 5,000
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[ 5,000 0 5,000
Al 104, 100 104,100 0
201 22| 16,700 11,700 5,000
[ 5,000 0 5,000
Al 11,700 11,700 0
01 AF2 22| H 16,700 11,700 5,000
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= 5,000 0 5,000
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NECEE 3,300 5,600 £2,300
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FEFY 2y5 914,830 924,830 A10,000

= 90,000 90,000 0

Al 824,830 834,830 A10,000
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= 90,000 90,000 0

Al 824,830 834,830 A10,000

B = KA 5,000 15,000 A10,000

207 @ R 0 10,000 10,000
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01 2ol b 5,200 15,200 10,000

OJlga ARET ot 5,200 15,200 10,000

Hees(Ol=a) 6,025,685 8,803,000 A2,777,315

CRpE 6,025,685 8,803,000 A2,777,315

orE3 JlE 6,025,685 8,803,000 A2,777,315

802 & 3t 6,025,685 8,803,000 A2,777,315

NEREEEREE 2,969,328 5,615,000 A2,645,672

O2DLXIU&EI 2,969,328 5,615,000 A2,645,672

02 Al - CHIRESUES 3,056,357 3,188,000 A131,643

OSHEZIW a3 3,056,357 3,188,000 A131,643

ERT 7,673,518 9,437,618 A1,764,100

Ofl HI Bl 2 D EF 7,673,518 9,437,618 A1,764,100

IR 7,673,518 9,437,618 A1,764,100

801 0f il bl 7,673,518 9,437,618 A1,764,100
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Ol bl 2,435,205 3,893,305 A1,458,100
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